Bid Results

Bidder Details

Vendor Name West Coast Sand & Gravel, Inc.Address 12570-8 Slaughterhouse Canyon Rd

Lakeside, California 92040

United States

Respondee Title Business Unit Leader

Phone 800-266-2837

Email jwillingham@wcsg.com

Vendor Type NONE

License #

Bid Detail

Bid Format Electronic

Submitted 02/24/2025 9:57 AM (PST)

Delivery Method Online Bid Submittal

Bid Responsive

Bid Status Submitted Confirmation # 415474

Respondee Comment

Buyer Comment

Attachments

File TitleFilled Response Form 2025.pdf

Filled Statement of Qualifications 2025.pdf

File Name

Filled Response Form 2025.pdf

Filled Statement of Qualifications 2025.pdf

File Type

Bidder's Responce Form
Statement of Qualifications

Page 2 of 3

Printed 03/04/2025

Line Items

Discount Terms No Discount

Item #	Item Code	Туре	Item Description	иом	QTY	Unit Price	Line Total	Response	Comment
Section 1 \$132,450.0000									
1			Provide Bidder's Response Form	Total	1	\$132,450.0000	\$132,450.0000	Yes	

Bidder's Response Form

RFQ: S2025-04 - Construction Fill Material and Trucking Services

Date:2/24/2025		-
Name of Company: West Coast Sand & Gra	avel, Inc.	-
Address: 12570-8 Slaughterhouse Canyo	n Rd, Lakeside	_
Signature:		-
Name (please print) Justin Willingham		-
Title: Business Unit Leader		
Phone Number: 800-266-2837	Fax Number: 619-561-3916	_
E-Mail: sdsales@wcsg.com	<u> </u>	
Ordering Information:		
Contact Name: Sales	Phone Number: 800-266-2837	_
E: Mail: sdsales@wcsg.com	Fax Number: 619-561-3916	
Emergency number for after hours: 800-26	66-2837	
Fax Number: 619-561-3916	E-Mail: sdsales@wcsg.com	_
Are services available 24-hours a day, seven d	lays a week? YES	_
Emergency response capabilities: ALL SUBJ	ECT TO EMERGENCY PRICING (NON BI	D PRICING)
Billing Information:		
Contact Name: AR	Phone Number: 800-522-0282	_
E-Mail: BILLING@WCSG.COM	Fax Number: 714-562-2758	_
Renewal Options: Escalation Caps for Renewal Option 1: 10 Escalation Caps for Renewal Option 2: 10	% %	
Escalation Caps for Renewal Option 3: 10		
Escalation Caps for Renewal Option 4: 10		

Name of Company: West Coast Sand & Gravel, Inc.

SECTION A

Prices are firm and fixed for one year from the date of award.

Material	Plant Price/Ton	Delivery Price/Ton	Est. Usage	Delivered Ext. Price
DG, Pre-moistened**	<u>\$</u> 18.00/ton	<u>\$</u> 24.00/ton	2000 Tons	<u>\$48,000</u>
Crushed Aggregate Base (CAB)	§ 32.00/ton	<u>\$44.00/ton</u>	1,000 Tons	<u>\$44,000</u>
1in Minus Rock (pre-washed)	§ 30.00/ton	<u>\$40.00/ton</u>	75 Tons	<u>\$</u> 3,000
Sand, SE30 for Sand Bags	\$_18.00/ton	<u>\$ 24.00/ton</u>	75 Tons	<u>\$ 1,800</u>
Cold Mix*	<u>\$110.00/ton</u>	<u>\$ 122.00/ton</u>	200 Tons	<u>\$</u> 24,400

Date: 2/24/2025

SECTION B

Billing shall not start until the trucks arrive at the Operations Yard or jobsite location. Authority has accounts with landfills and dumpsites that are located in South and East County and will be billed directly by the landfills for disposal and recycling of spoil from job sites.

Prices are firm and fixed for one year from the date of award.

Minimum hours billed per service call: 6 HOUR MINIMUM

Description	Hourly Rate	Est. Number of Billable Hours	Total
Hauling of spoil from Operations' yard	\$ 150.00/hr	75	<u>\$</u> 11,250
and job site locations to dump sites			
located in South and East County.			

^{*} A MSDS or SDS sheet must be included with your bid. Failure to provide an MSDS or SDS sheet may result in the rejection of your bid.

^{**}Pre-moistened to optimum moisture-based proctor density test results of 9.0%.

STATEMENT OF BIDDER'S QUALIFICATIONS

The following statements, as to the experience and qualifications for the submitted Quote, as a part thereof. The truthfulness and accuracy of the information is guaranteed by the submitter.

Com	pany Name:	West Coast Sand & Grav	vel, Inc.		
Expe	The Company has been engaged in the business, under the present business name for 57 years Experience in work of a nature similar to that covered in the Scope of Work extends over a period of years.				
		cessfully completed the fo de and difficulty of this pro	llowing contracts in the last three years, which are ject.		
Com	pany Name: Swe	etwater Authority			
	act Name: Karim	0.1			
Cont	act e-mail: purch	asing@sweetwater.org			
Cont	act Phone Numbe	er: 619-409-6872			
Servi	ice Provided: Ag	gregate Material Supply			
Proje	ect Amount: \$122	2,550	Project Start Date: April 2024		
Com	pany Name: City	of San Diego			
	act Name: Jerry	Cibbo			
Cont	act e-mail: jggibl	os@sandiego.gov			
Cont	act Phone Numbe	er: 619-236-5510			
Servi	ice Provided: Agg	gregate Material Supply			
Proje	ect Amount: App	rox. \$1,000,000	Project Start Date: October 2022		

Statement of Bidder's Qualifications RFQ S2025-04 Material and Trucking Page 2 of 2

4.	Have you ever failed to complete any work awarded to you, or defaulted on a contract?						
	If so, please explain where a	and why? No					
5.	Additional information: Any	y other relevant information	n that supports the proposal:				
	SURCONTDA	CTOR (if applicable)	1				
	SUDCONTRA	CTOR (II applicable))				
per lice ins hal Au	form work, or labor, or rendernsed by the State of Californ talls a portion of the work act $f(1/2)$ of one percent (1%) o	er service to the bidder on a nia who, under subcontract cording to the plan and spe f the total quote, and that p contractors to submit requ	Ebusiness of each subcontractor was aid contract, and each subcontract to the bidder, specially fabricates ecifications, in an amount of excess portion of the work to be done by aired subcontractor information up	ctor s and ss of one- such			
Lic	me of Subcontractor, cense Number, and assification	Address of Place of Business	Work to be done by Subcontractor				